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Participant Name

Test Center Name

Uniconcept Technology Pvt.Ltd

Test Date 09/02/2021
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Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.

Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.
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Question ID :
Option 1 ID :
Option 2 1D :
Option 3 1D :
Option 4 ID :

Status :

9489116132

94891124526
94891124528
94891124525
94891124527

Not Answered

Chosen Option : --
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A X1 3551.60
< 2 354923
< 3 3550.0
v i 3551.25
Question ID : 9489116360
Option 1 ID : 94891125439
Option 2 1D : 94891125437
Option 3 1D : 94891125438
Option 4 1D : 94891125440
Status : Answered
Chosen Option : 1
QL 3FgaT 2020 FF oA AAHN & HFAR, HIS AT & fohael =oAT 82
A XKL g
X2 g
v ar
X - BE
Question ID : 9489116111
Option 1 1D : 94891124441
Option 2 ID : 94891124443
Option 3 1D : 94891124444
Option 4 ID : 94891124442
Status : Answered
Chosen Option : 3
Q4 3§ FFed & =97 #Y, FHF TE U F AT T HIYT §, ST gAL Ue # TgA g H g
T HEA A ?
Ans - X1 TASEA
v
a2 o @ T
Kb FRET
Question ID : 9489118880
Option 1 1D : 94891135519
Option 2 ID : 94891135518
Option 3 ID : 94891135517
Option 4 1D : 94891135520
Status : Answered
Chosen Option : 2
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Ans

v | HEgE-3gh
A HES B
X 5. ZoIE ATAT
X aren sifas

Question ID : 9489116123
Option 1 1D : 94891124492
Option 2 ID : 94891124490
Option 3 1D : 94891124491
Option 4 1D : 94891124489
Status : Answered
Chosen Option : 4
Q6 et ¥ Feifewor #1 T T TR FeT (Family)' 3R ST (Species)' F &= 317ar &2
T Y. P
Ans *
V' 1 Fr (Genus)
X 2 T (Class)
&< 5 @ (Phylum)
< + %A (Order)
Question ID : 9489116114
Option 1 1D : 94891124456
Option 2 ID : 94891124454
Option 3 ID : 94891124453
Option 4 1D : 94891124455
Status : Answered
Chosen Option : 2
Q7 vF e WA ¥ AR wles 7ET 10% B A g% A Far §1 A 9 ag v o
3t EfET fFar T, 3= 9% FE Teae gfore e war @ o
Ans 1
XL21-%
’
v 21%
K3 20%
K+ 34%
Question ID : 9489116359
Option 1 ID : 94891125433
Option 2 ID : 94891125434
Option 3 1D : 94891125435
Option 4 1D : 94891125436
Status : Answered
Chosen Option : 2




Q8 RE 7w Fuet # 9¢ AR 37 Fwed &1 T9w F, A 375 OF FEUF S9gFT TR g
EXEN
AR 2 F6t & SR ArerarfF & fadt # wh I g f
B.Row 2 mdial & ek XYZ dveret & fiat # Fdr Fa g2 2

L S S TEAT FROT & 9E 2
X FUF B FROT § AR FuF A THF T 2
K5 2T FUdT TaT FROT F
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Question ID :
Option 1 1D :
Option 2 1D :
Option 3 ID :
Option 4 1D :

Status :

Chosen Option :

9489118881
94891135523
94891135522
94891135524
94891135521
Answered

1

Q9 2001 #Fr F0TAT NNE F 3FER, R A B & F 3 100 FAEAT Fr FEAT FASH 2
XK

<2 arferEare

X Jyerer

v IS

Question ID :
Option 1 1D :
Option 2 1D :
Option 3 1D :
Option 4 ID :

Status :

Chosen Option :

9489116125
94891124500
94891124499
94891124498
94891124497
Answered

4
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Ans XL ISTEATH
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v seaTEs
X s Hag
=
X ¢ ST
Question ID : 9489116143
Option 1 ID : 94891124570
Option 2 ID : 94891124572
Option 3 ID : 94891124569
Option 4 ID : 94891124571
Status : Answered
Chosen Option : 2
Q11 0.2x0.2+0.02 x0.02—0.4x0.02 a-_;r ﬁﬁ |
0.36
X2
X< 2 3.195
<3 2.199
v 0.09
Question ID : 9489116345
Option 1 ID : 94891125378
Option 2 ID : 94891125380
Option 3 ID : 94891125379
Option 4 ID : 94891125377
Status : Answered
Chosen Option : 4
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Ans
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e
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1. mafr ey & 9T §
2. gefr et & oler 3

X ey 2 g #ar g

X2 sy 1 gre AT §

v sy 1 3R 2 1 9 WA g

K FarFsey 1 3R &2 oo F=ar

Question ID :
Option 1 ID :
Option 2 1D :
Option 3 1D :
Option 4 ID :

Status :

Chosen Option :

9489118901
94891135602
94891135601
94891135603
94891135604
Answered

4

Q.13 A, B & 50% Fd-g= §1 C, ¥F B # A 3 B g@w v @ryr e fro o o & e s
w4 g1 Afg C, ke TRl &1 @1 40 foF & @ AT €, & A, B Hit C @1 ve wny e 5w e

Ans

F T A H ool FR7T e
X1 R

3
Xzﬁﬁa

3
<3 13f=

1

v 135%

Question ID :
Option 1 ID :
Option 2 1D :
Option 3 1D :
Option 4 1D :

Status :

Chosen Option :

9489116361
94891125444
94891125442
94891125441
94891125443
Answered

4
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K+ sETET ey

Question ID : 9489116108
Option 1 1D : 94891124431
Option 2 ID : 94891124430
Option 3 1D : 94891124429
Option 4 ID : 94891124432
Status : Answered
Chosen Option : 2
Q.15 25% WigaT 9T 36 FT HoX F @ H, 80% Tigal I Tay & IF Fr fraer A e S R,
s ureT @ amer fEeoT i "@iEar 60% &
X 2 40 sfeT
<572 BT
v 1 63 BT
Question ID : 9489116367
Option 1 1D : 94891125465
Option 2 ID : 94891125467
Option 3 1D : 94891125466
Option 4 1D : 94891125468
Status : Answered
Chosen Option : 4
Q16 Hzifesr & F, T I G AW F FIw@ FO I @R q HOT g &1
A XL gHERIOT
v FSHIT
X5 sfeReRIoT
< 4. THIOT
LY
Question ID : 9489116371
Option 1 1D : 94891125483
Option 2 ID : 94891125484
Option 3 ID : 94891125482
Option 4 1D : 94891125481
Status : Answered
Chosen Option : 3




Q.17 gfar amefr 7gT A &7 (Indira Gandhi Canal Command area) # 98 & 550 @@ & =1 AT a?

Ans

X 1L TSI Sl
X 2 OaTT FET
X 5. g FgT

v 1 TSEUT g

Question ID : 9489116142
Option 1 ID : 94891124568
Option 2 1D : 94891124566
Option 3 ID : 94891124567
Option 4 ID : 94891124565
Status : Answered
Chosen Option : 4
Q.18 w=w fAR¥d Fesmwr # DUFUDFDD &I FUDFDDDU % &7 & for@m =T &, aF 4 &% & COCACOCA
= e e Fee?
A X1 COCOCACA
v > CACOCACO
# 3 ACOCACOC
X + AOCACOCC
Question ID : 9489118874
Option 1 ID : 94891135493
Option 2 ID : 94891135495
Option 3 ID : 94891135494
Option 4 ID : 94891135496
Status : Answered
Chosen Option : 2
QY a1 sTEO v e Tess (DRDO) #T T e av #r 715 o2
A X 11950
X< 2 1947
v ' 1958
/11991
Question ID : 9489116131
Option 1 ID : 94891124522
Option 2 1D : 94891124521
Option 3 ID : 94891124524
Option 4 ID : 94891124523
Status : Not Answered

Chosen Option :




QN FHRET-AT a7 FEA (Quinine) SAF ¥ w9 F o g ¥7
An XL FrafffiY (Eucalyptus)

v FaA (Cinchona)

# s Faer (Dandelion)

K 1. ForEr (Basil)

Option 1 ID

Question ID :
1 94891124449
Option 2 1D :
Option 3 ID :
Option 4 1D :

Status :

Chosen Option :

9489116113

94891124452
94891124450
94891124451
Answered

2

Q.21 37 37 3@ F TF HY, F BT 7C W F wHeTT F = & @y B FEead & F Twa w2 §

TEAYN, SHAH, FYT

Question ID :
Option 1 ID :
Option 2 1D :
Option 3 1D :
Option 4 ID :

Status :

Chosen Option :

9489118897
94891135585
94891135588
94891135587
94891135586
Answered

4




Q22 Ffg X YH wag ZYF AT A ZR Bar g st B, AFr a7 &, a X o1 A & a1 gy #7

Ans

v TS A A
<2 Rar & A
Ao

XL AT & sga
Question ID : 9489118877
Option 1 ID : 94891135508
Option 2 ID : 94891135506
Option 3 ID : 94891135507
Option 4 ID : 94891135505
Status : Answered
Chosen Option : 1
23 T &1 75 km/h &7 Teh AR = O =Tl | 39 - 250 km T ;
23 TeeTEr Hr TIT YT bcoicicing Fr A H
ITeT FHAT AT ST
Ans - X1 3 h
K22h
/<33 h5 min
v 3 h 20 min
Question 1D : 9489116362
Option 1 ID : 94891125445
Option 2 ID : 94891125446
Option 3 1D : 94891125448
Option 4 ID : 94891125447
Status : Answered
Chosen Option : 4
Q.24 =§ 2020 7% sfEma & #er (IPL) &-20 e e & Toraer BEatr smiie fane = 9% 32
ans of 113
X 2 08
#3509
X1
Question ID : 9489116104
Option 1 ID : 94891124416
Option 2 1D : 94891124415
Option 3 ID : 94891124414
Option 4 ID : 94891124413
Status : Answered

Chosen Option :

1




Q.25 wk TR F & YR §| TgeT TER e 9 min F TR Fr oir gar Tewer wwar § T g 9 e
6 min & TR FT T 1 T THar § | g g TR AT & T &, & S =R o Ty
o fraelr @ & enr #r i Zr e e £

Ans 1
< . 3= min
2
o G s
v 35 min
2 515 i
21— Min
2
X+ 4lmi
-4 — 1IN
4
Question ID : 9489116365
Option 1 ID : 94891125458
Option 2 ID : 94891125459
Option 3 ID : 94891125457
Option 4 ID : 94891125460
Status : Answered
Chosen Option : 2
Q.26 =& v Zoet EAUT F &7 UF Teww FR AT &, A s F Fhw @O gV G0N AR A g g guon H
T & FNS 3 FHT 82
w B
K23:7
K33:2
Ko 4:7
Question ID : 9489116357
Option 1 ID : 94891125428
Option 2 ID : 94891125427
Option 3 ID : 94891125426
Option 4 ID : 94891125425
Status : Answered
Chosen Option : 1




Q.27 T T FFeat # ¥ 37 SE&0 F G497 By, = e vl F weARET (7) % T W HT Saar gl

16, 2, 32, 3, 96, 4, ?

Ans of 1384
< 2 206
X6
<+ 102
Question ID : 9489118899
Option 1 ID : 94891135596
Option 2 1D : 94891135595
Option 3 ID : 94891135594
Option 4 ID : 94891135593
Status : Answered
Chosen Option : 1
Q.28 TeafEfEa § & g Resfeaey o gum somies &94eT (ENIAC) & Eosa w8 fafda frar?
A o L afEeater eafaeaew
1.
X 2 HFawrs eafaee
X weawrs feafacaes
X+ grag Taeafaearey
Question ID : 9489116136
Option 1 1D : 94891124541
Option 2 1D : 94891124544
Option 3 ID : 94891124542
Option 4 1D : 94891124543
Status : Answered
Chosen Option : 2
Q.29 = weg & 7w £, B ¥ 9= 0 RE ¥ T § R o e §1 swe & om0
o iR
X 2w
X 3. hear
X 4 STHFTHET
39
Question ID : 9489118895
Option 1 ID : 94891135577
Option 2 1D : 94891135579
Option 3 1D : 94891135578
Option 4 ID : 94891135580
Status : Answered
Chosen Option : 3




Q.30 forifers et 1 e Es euas Y dR Gy ow feedt § ¥ 397 deastt & 997 #i, S 57

TEARES (7) F TAA T 3T TR £

== 36 8 =80
3

Ans x 1. 24
v 72
<390

1L

= ?

<4100
Question ID : 9489118902
Option 1 ID : 94891135608
Option 2 ID : 94891135605
Option 3 ID : 94891135607
Option 4 ID : 94891135606
Status : Not Answered
Chosen Option : -
QI 7 F g W e @ A (3rw) w1 AR e w6 g g 22
s o FEATT
X 2 FOT
X 5 FFer
XL FE
Question ID : 9489116122
Option 1 ID : 94891124487
Option 2 ID : 94891124488
Option 3 ID : 94891124485
Option 4 ID : 94891124486
Status : Answered

Chosen Option :

1




Q.32 A 3 W1 & 38 & A F AA wawe, F 2019 F Gifrrden @A gaw T8 B et

i 75 # oz T o

XL e g
v HifEeS THEA
Ko HTSHATS FEATT
K1 AT FEATT

Question ID : 9489116106
Option 1 1D : 94891124423
Option 2 1D : 94891124424
Option 3 1D : 94891124422
Option 4 1D : 94891124421
Status : Answered
Chosen Option : 2
Q.33 .
SRET TS FEF & I8 Ag=T Hhid 97?
Ans
X 1 seeg H &=l
X 2 FAgTeAT Tmefr
v T3 EGA
X+ ATl FHSOT @
Question ID : 9489116117
Option 1 1D : 94891124466
Option 2 ID : 94891124465
Option 3 1D : 94891124468
Option 4 1D : 94891124467
Status : Answered
Chosen Option : 1
Q.34 Trel a8g & 7% @ W AN 6% @ W I I 9vd e Hydt a1 AT 2104 §1 9%g F FA Hed
T &
an o X1 2850
< 2 2820
v : 2800
X + 2780
Question ID : 9489116358
Option 1 ID : 94891125432
Option 2 1D : 94891125431
Option 3 ID : 94891125429
Option 4 ID : 94891125430
Status : Answered
Chosen Option : 3




Q.35 R 7T Yo # AT HemAS FY AR fEw 0 et F ¥ 3% wEw & a5 S 5w
TRATIES (?) & T W 3 THA 2

A X114

v 7
X9
X+ 31

Option 3 ID

Question ID :
Option 1 ID :
Option 2 1D :
1 94891135532
Option 4 ID :

Status :

Chosen Option :

9489118883
94891135531
94891135530

94891135529
Answered

2

Q.36 we HEAT W 40 AT A W, T UH! T & 60% & ST &1 Far g1 TEAT A Hitew)

ans K1 160
X 2 200
v 5100
X + 130

Chosen Option

Question ID :
Option 1 ID :
Option 2 1D :
Option 3 1D :
Option 4 ID :

Status :
03

9489116355

94891125420
94891125418
94891125419
94891125417

Answered




Y EAeRd ¥ FiT G U g7 B
1) Sedes 07 TEAT, Whd TEAT B 2
2) Wcs qUites, TR W& 2

3) Yeds RET gE, i 2

s X3
Vo2
 ER
X2 3k 3 =t

Question ID :
Option 1 1D :
1 94891125410
Option 3 1D :
Option 4 1D :

Status :

Option 2 ID

Chosen Option :

9489116353
94891125411

94891125409
94891125412
Answered

2

Q38 15° 3 0T & YT HIUT AT 125° & HIT & FIH BT 1 AT AT ST

Ans K1 120°
v 2 130°
X3 135°
X + 150°

Question ID :
Option 1 1D :
Option 21D :
Option 3 1D :
Option 4 1D :

Status :

Chosen Option :

9489116370
94891125477
94891125478
94891125479
94891125480
Answered

2




Q.39 fT v Yo F eOaEs 3eTTS FY AR T av feest § ¥ 39 gua & o99a w1, S 55
TRARIES (?) & T W 3T T B

6\ 117 f? 9\ ? {z
9 7

ans XK1 520
X 2 250
X3 126
v 77

Question ID : 9489118884
Option 1 ID : 94891135533
Option 2 ID : 94891135534
Option 3 ID : 94891135536
Option 4 ID : 94891135535
Status : Answered

Chosen Option : 4

U e g A F A S T e (al) S A B
A X1 weemee (Alkalenes)

X 2 3ediger (Alcohols)

v o UfesgrEE (Aldehydes)

/< Torsa (Alkynes)

Question ID : 9489116116

Option 1 ID : 94891124461
Option 2 1D : 94891124462
Option 3 1D : 94891124463
Option 4 ID : 94891124464

Status : Answered

Chosen Option : 2




U fre o swE F wEg & v s # @ i @ Reew wow

Ans

1,2, 3,5 2.3, 4,6,6,8,3, 4,5
& | F@reT = AT

X o FETEH > Sgeh
{zs,EqTE?J':Eg?l?

X 1. FEEIH < AT

Question ID :
Option 1 1D :
Option 2 1D :
Option 3 1D :
1 94891125485

Status :

Option 4 ID

Chosen Option :

9489116372

94891125488
94891125486
94891125487

Answered

3

Q.42 F=irg srRmy Torg=wr sgEr (WCCB) waiewor, 3 ve soarg Tiaas Ao (MoEF&CC) # siaeia T

Ans

gt sg-fvws e ¥ sae gumem . & T R
PSR- rr )

< 2 FIeTRTaT

v g R

X+ geTeTg

Question ID :
Option 1 1D :
Option 2 1D :
Option 3 1D :
Option 4 1D :

Status :

Chosen Option :

9489116135
94891124538
94891124537
94891124540
94891124539
Answered

3




Q.43 fa=faf@T 7 ¥ Foa 5o FeaET & 2" W 5857 heq YA S F 3eqsT F7 9697 T80T
e

K s W
X2 FT F=AT
v o g el
X - ofrer SifdT

Question ID : 9489116140
Option 11D : 94891124560
Option 2 ID : 94891124559
Option 3 ID : 94891124558
Option 4 ID : 94891124557
Status : Not Answered
Chosen Option : -
Q44 a:mma=§ #i a:rga‘r%m 15 ¥ ST &1 3T TEIT F AT =TH ¥ BrES st 37
A X 1170
< 2 300
v 175
<+ 375
Question ID : 9489116344
Option 1 ID : 94891125376
Option 2 ID : 94891125373
Option 3 ID : 94891125374
Option 4 ID : 94891125375
Status : Answered
Chosen Option : 3
45 : 3
W ofRfla & 8 Fi9 @ seusT 3suRey er & g 27
Ans &
L HAAHTO
X | 3 TET TehST
V' AT AETER ded=d 3HANTY
K5 Sl FeaelE IARTY
X+ RBER gegeE FEIvT
Question ID : 9489116124
Option 11D : 94891124493
Option 2 1D : 94891124494
Option 3 ID : 94891124496
Option 4 ID : 94891124495
Status : Answered
Chosen Option : 2




Q.46

& v 1 5 i
sin™! (—) T HET AT (principal value) 7T FHifaT)
vz a2
Ans x L. 1T
; T
X2z
2
n
W3 -
4
X0
Question ID : 9489116373
Option 1 ID : 94891125490
Option 2 ID : 94891125491
Option 3 1D : 94891125489
Option 4 1D : 94891125492
Status : Answered
Chosen Option : 3
Q.47 wF FaTeTsT, FIS 40125 TH F1 UF THER HpT F w9 H afFTd A ot § cwafae ser
TE ¥ 3o AT HA F 4G, 36 9 G 3 @ go dfs ww aw §) 0w av dfewt & s
g e
s K 1175
v 125
< 3 200
<+ 150
Question ID : 9489116348
Option 1 1D : 94891125392
Option 2 ID : 94891125389
Option 3 ID : 94891125390
Option 4 ID : 94891125391
Status : Answered
Chosen Option : 2
.48 i 2
U orfiT & Taeelr Far 9T AT §7
AR
X o TFF
< g8 HI T
X AT
Question ID : 9489116112
Option 1 1D : 94891124447
Option 2 ID : 94891124446
Option 3 1D : 94891124448
Option 4 1D : 94891124445
Status : Not Answered

Chosen Option :




QY ey AT TETAT TS F THFET SIA0T ARET IETIT FiT T 87

Ans

< . &1 (Been)

X 3:;:.3,‘% (Uddukai)
X< 3. A% (Damru)
v &ar (Chenda)

Chosen Option

Question ID :
Option 1 1D :
Option 2 1D :
Option 3 1D :
Option 4 1D :

Status :
13

9489116109

94891124436
94891124435
94891124433
94891124434

Answered

O oI = ¥ R o oF feEe & opfy

Ans

K1 Bl Sl
v EEET
X 5 ZGITE aREmET

< TEdr e BH

Question ID :
Option 1 ID :
Option 2 1D :
Option 3 1D :
Option 4 ID :

Status :

Chosen Option :

9489116110
94891124438
94891124437
94891124439
94891124440
Answered

2




Q51 38 37 3w & w0 *, A Rw v et & weww F 9w deu @ et o @ T wean §
Ans

F 0

«a@ o

Question ID : 9489118896
Option 1 ID : 94891135581
Option 2 ID : 94891135582
Option 3 ID : 94891135584
Option 4 ID : 94891135583
Status : Answered

Chosen Option : 3

Q5 RrafafT sual W IR w1 3k 9a7 & 358 @ #i9 @1 g §
1) Yol AT AT, v @ #
2) el off &7 3EITST FEATHT F UGS HH HEAT g g
An KL e 2
X2 e 1
K51 3R 2
vigartdrad2

Question ID : 9489116350

Option 1 ID : 94891125398
Option 2 1D : 94891125397
Option 3 1D : 94891125399
Option 4 ID : 94891125400

Status : Answered

Chosen Option : 4




T wfuE W Fw 3 R T o
A K126 ST 1950 F

X 2 26 FIET 1946 =

<5 26 S 1947 F

v ' 26 FEET 1949 Fr

Question ID :
Option 1 1D :
Option 2 1D :
Option 3 1D :
Option 4 1D :

Status :

Chosen Option :

9489116127
94891124508
94891124505
94891124507
94891124506
Answered

1

Q.54 FRRea # ¥ 5 Feu & dtuwdnt 3 oRg ¥ 5o Ol mev-Rele sEeniie # e

F0 T qe- R ¥, R ST Ao Segfe Sl i R ST weeT 32
K IS TEh

X 2 HISHGE FA

7o amgamsdr R

v HEIEE Ag

Question ID :
Option 1 1D :
Option 2 1D :
Option 3 1D :
Option 4 1D :

Status :

Chosen Option :

9489116130

94891124519
94891124518
94891124520
94891124517
Not Answered




QY PrAfaf@a FHER0T F HUR ) 3 A 3R B @ A A7 e
BA x B3
Ans K1 A =
K2 A=
K3 A=
v A=

1
al
~J
P

;oo W
W W W W

[
N W B,

Question ID : 9489116352
Option 1 ID : 94891125407
Option 2 ID : 94891125406
Option 3 ID : 94891125408
Option 4 ID : 94891125405
Status : Answered

Chosen Option : 4

Q56 a7 oI ¥ O HEar A HSw, B 204 F T FA W AT FEAT TH GOT T gEA
Ans X1 4

V6

<33

X 1

Question ID : 9489116347
Option 1 ID : 94891125387
Option 2 ID : 94891125386
Option 3 ID : 94891125385
Option 4 ID : 94891125388
Status : Answered
Chosen Option : 2

Q7 g & ge A g5 AR Fee 3l g8 F 39 &1 ague A A
A K112 1 1

X25:1

Xs1:1

vi1:12

Question ID : 9489116354

Option 1 ID : 94891125416
Option 2 1D : 94891125415
Option 3 ID : 94891125414
Option 4 1D : 94891125413

Not Attempted and Marked

Status : R
For Review

Chosen Option : --




B cos(sec™ix + cosec™lx) FT AT AT HeT, FafF x| =1 §
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